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Addition & Subtraction Word Problems

Choose the model that correctly represents the given scenario.

Daniel grew 6 plants in his garden. Then he grew 2 more plants. Now there are 8 plants in the garden.
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In alibrary, there are 7 books on a shelf. 4 of them are story books and the rest 3 are math books.
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There are 5 frogs sitting on a log. 3 more frogs hopped in and sat on the log. Now, there are 8 frogs
sitting on the log.
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Maria saw 10 birds sitting on a branch. 6 of them flew away. There are 4 birds still sitting on the

branch.
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